Question 8 2010 HSC,Mathematics

Band 4/5
Sample 2

CM
S ]

&) A=Poe "
00 coo 000 = (02 €
200 000 00 = (02 ¢ 2

200 000 _ 575“/"
\O 2 '

Pis

1 200000 coo
02

— —ISK

lin 200 000 000

e —

02 =¥

=

(= 0. 0028 (sclp)

_ 55 (0:002S)
A=102¢e

bwy, 2055
) o
Showclol e arocrc

200 000[08
Counyg foods




Question 8 2010 HSC I2VIathematics Band 4/5

Sample 2
L) P(Reth fuils) _ )
| — @306 ) g -
=064 _
A - k. _
W) b=2
Yy 1 = o = AL
| S B = b = ST WY b o

Additional writing space on back page.

Dfiee Dl Oalv - Do NOT weee aacthine o make ane marks below thia e




Question 8 2010 HSC Mathematics Band 4/5
i Sample 2

{,Jl) T ""‘-{L'Lf:.{ v C—:,} Ag-.‘b‘\V_\CJf_'I.C = ’_fl"[(;){ ) _,? C:J
. e
3% —bx + W &0
2 -x Y-l
Selx=2) -1

(2%, £ 27

Y ou may ask for an extra Writing Booklet if you need more space to answer question 8.
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